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1. Choose the most suitable answer from the following

options :1x16=16

(i)

(ii)

(iii)

GROUP - A

PART - I

"She is too honest to be a successful 

businessman" removing the adverb 'too' this 

sentence can be transformed thus:

(a) She is so honest that she cannot be a 

      successful businessman.

(b) She is so honest that she can be a 

      successful businessman.

(c) She is not so honest as other think her to 

      be.

(d) None of these

A modal verb is always followed by :
4

(a) V
2

(b) V
1

(c) V
5

(d) V

The only verb form of a perfect tense is:
1

(a) V
2

(b) V
3

(c) V

(d) All of the above
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(v)

(vi)

(vii)

(iv)

P.T.O

'The structure of a negative question in the 

simple past tense is :
1(a) Did + S + V  + O + not + ?

1
(b) Did + S + not + V  + O + ?

2
(c) Did + S + not + V  + O + ?

2
(d) S + S + V  + Not + ?

The Noun-form of the word 'Criminal' is :

(a) Criminalised

(b) Crime

(c) Criminology

(d) Both (b) & (c) above

Which of the sentence given below is 

grammatically correct :

(a) If I had money, I would have helped you.

(b) If I had had money, I would have helped 

      you.

(c) If I had money, I will help you

(d) None of the above

An 'adverb' is a word that adds to the 

meaning of a

(a) A Noun

(b) An Adjective

(c) Pronoun

(d) An Adjective, A verb and an Adverb
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1 x 4 = 4

9.

(iv)

PART - II
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(viii)

(ix)

(x)

(ix)

(a) V + 'S' /es

(b) V + ing

(c) Past Participle form of V

(d) None of these

The sentence : 'Who can put up with such an 

insult' means :

(a) Everyone can put up with such an insult

(b) None can put up with such an insult

(c) Someone can put up with such an insult

(d) None of the above

The Passive voice of the sentence :

 'Help the poor' will be :

(a) The poor can be helped

(b) The poor should be helped

(c) The poor may be helped

(d) None of these

The opposite of the word 'elegant is:

(a) Graceful

(b) Ugly

(c) Beautiful

(d) None of the above

NT12004

(i)

(ii)

(iii)

1 x 4 = 4
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(xiii)

(xiv)

(xv)

(xii) The adjective form of the word 'atom' is :

(a) Atomic

(b) Atomically

(c) Both (a) & (b)

(d) None of the above

Which of the following sentences has correct 

use of 'article'.

(a) A society is necessary for all

(b) The society of ours is healthy

(c) Both (a) & (b)

(d)  None of these

The verb form of 'belief' is

(a) Believe

(b) Belie

(c) Beliefed

(d) None of these

The negative interrogative form of the 

sentence: 'Wordsworth was a great poet'. 

will be

(a) Was wordsworth a greater poet ?

(b) Was wordsworth not a great poet ?

(c) Is wordsworth not a great poet ?

(d) None of these

P.T.O
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7.

8.

Define verb and discuss the kinds of verb using 

suitable examples.

Write three uses of 'Could' & 'Would' with suitable 

examples.

Write three rules of the use of simple present tense 

and simple past tense with suitable examples.

Define Homonyms and Paronyms giving two 

suitable examples for each..

Write the Synonym of any three of the following 

words and then frame sentences from them.

Auxiliary, Assist, Create, Ignite, Join, Propel, 

Spark, Transmit

OR

OR

OR
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(a) Semi-colon

(b) Hyphen

(c) Color

(d) Dash

NT12004

(xvi)

Answer all Four Questions.4 x 4=16

2.Read the following passage carefully and answer 

the questions that follow :.

Man has his dominant position on this planet by his 

command of technology. Other animals have to 

take nature as they find her, they must fit into the 

environment that she provides as best as they can. 

Man alone changes the shape of his world. He move 

things about, he alters them in a constant effort to 

create an environment more hospitable than that 
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Questions :

(2) What has made man dominant on the earth ?

(3) How does man differ from animals ?

(4) Why does man alter things ?

(5) What is the central idea of the given passage ?

                 GROUP  - C

6 x 3 = 18 Answer all Three Questions.

6.Write a paragraph in about 250 words on the 

importance of Technical Education.

      or
               

Discipline is Key to Success.

6

PART - I

PART - I

which nature has thrust him into. Technology is the 

sum total of all the different techniques by which 

man changes his environment.
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